= CAREER POWER

AN I1IT/IIM ALUMNI COMPANY

Q1. Arun invests a total of Rs 20000 in two parts, some money @ 7% per annum and rest of money
@ 11% per annum of SI after two years he got a total of Rs. 3360 as interest. What is the amount
put at 7% per annum interest?

2T T 20000 FIC I ARM A [T FLAT ], TS g7 @ 7% T T9 3 AV 89 @ 11% TAaw HTemor s
R a9 FEar §. A a9 & 91< I AT & §T H F9 3360 FIC ITH 1A 8. 7% T a9 A7 9X S99 Tt

Tty et fi?
(a) 11000

(b) 9000

() 14000

(d) 13000

Q2. First thirteen multiple of 1, 2, 3,.... 9 are taken. What is the average of all thee 117 numbers?
1,2,3,..,9 & I8 a3g 1T forg 1T | FF 117 971 it sied .1 2

(a) 58.5

(b) 35

(c) 49

(d) None of these / A & FIs AG!

Q3. A shipping clerk has to weigh 10 distinct packets. He weighs them four at a time, weighing all
the possible combinations of the packets from the ten. The average weight of all the weighing
combination is found to be 800 gm. What is the combined weight of all the size packets?

T FATHT b &1 10 SFT-1T FHhel T TSI HAT TSAT 8. T Th S H AT H (7 Al §, 6 Fahe § &
I GHT GHTIAT TAISTAT T G917 HLAT . THT T G HT A9 a1 800 ATH ITIAT ATAT §. THT R F

ohe FT HI<H a9 fhadT1 8?2

(a) 21600
(b) 2000
(c) 168000
(d) 16000
addazy
Q4. A bus from Bhopal took 14 hrs to reach jodhpur. It covered & & test series

half of the distance at 80 km/hr and the rest of the distance at
60 km/hr. the distance betwet/an two cities is ssc CG L PRIME
ST & SET AT T T a9 Ay 14 52 70 A 72 8 80 Fefy / 2019

ST ST AT T T 60 AT / wer i T F g T g1 I a9 F AT 400 + Total Tests

it T 2- v/ 75 Tier-| Mocks

(a) 460 km/ FoHT v 40 Tier-‘ll Mocks 3
v~ 78 Previous Years' Tier-1 Papers

(b) 960 km/ faft v~ 20+ Previous Years Tier-Il Papers
(c) 320 km/ ER:T v 200+ General Awareness Topic wise Sets

(d) 1080 km/ faft
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Q5. A, B and C start at the same time in the same direction to run around a circular stadium. A
completes a round in 252 seconds, B in 308 seconds and C in 198 seconds, all starting from the
same point. After what time will they again meet at the starting point again?

A, B 3T C TF 1 e & U &7 9T UR TF MR RRIH F A T AT € w4 &1 it uw g g @
ST € FA &, A 252 5 A, B 308 T 7 3% € 198 T § UF ST [ HT & | v avr S ag 9
e & Tt &g o= e

(a) 46 min 12 sec/46 fo=e 12 T&e

(b) 45 minutes,/45 f&=e

(c) 42 min 18 sec/42 = 18 &

(d) 26 min 18 sec/26 &=z 18 T

Q6. The difference of compound interest and simple interest for 3 years and for 2 years are in
ratio 23 : 7 respectively. What is rate of the interest per annum (in %)?

3 9 X 2 a9 % forg =g fE ATt SR |TeTor SATST FT S /e 23: 7 % AT # gl Tia a9 a1 (%
) foraeit 87

(a) 200/7

(b) 100/7

(c) 300/7

(d) 400/7

Q7. 5 years ago the average age of a family which includes father, mother and a son was 35 years.
3 years ago the average age of father and mother was 46 years. What is the present age (in years)
of the son?

5 T qga TF THar< it i g 35 a9 off fSraw foqr, @t &k g anfaer g1 3 v uger far si< =t &t sfwa
AT 46 TN ff| T i TdAT g (¥ #) =it &2

(a) 20

(b) 24

(c) 26

(d) 22

Q8.
IfA/3=B/2=C/5, then what is the value of ratio
(C+A)::(A+B)?:(B+C)*¥?

afg A/3=B/2=C/5, TR (C+A)2:(A+B)2: (B+C)?
eI 1 Hed AT &

(@a)9:4:25

(b)25:4:9

(c)64:25:49

(d)49:25:64
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Q9. A man walks from Delhi to Punjab and back in a certain adda 2y
time at the rate of 11 km/hr. But if he had walked from delhi to & & testseries
Punjab at the rate of 10 km/hr and back from Punjab to Delhi at
the rate of 12 km/hr, he would taken 20 minutes longer. The g SSC CGL 2018-19
distance between Delhi to Punjab is ? o/

T e U e awg & 11 & /g f = 9 Ry 9 951 STar h
& I} ATIY 14T §. A PR 98 10 Y / et Fit 1 & R”iwwh & dome
ST & o 12 Reft / ser Y a3 & dore & Reeeft arw o €, @ ¥ CRACKER
20 e stfers aw e, fRieeft siie astre & ot it & stra +i<.
(a) 156 km/ fereft

50 Full Length Mocks

(b) 160 km/ Y
(c) 220 km/ fFfy
(d) 148 km/ ffy

Q10. CP of 15 apples is equal to the SP of 18 apples and the discount on 3 apples is equal to the
loss on 6 apples what would be the profit or loss if apple sold at market -price.

15 9 T FF 97 18 A9 & A7 I F IUaL g 3T 3 49 X Fe 6 99 U g & &< §. I3 9 Hl I
S I J9T SITC AT ATH IT FIA AT gRAT?

(a) 125% profit/aTs

(b) 25% loss /T

(c) 16=% profit/aT+

(d) 82% profit/aTs

Q11. Saurabh sold 300 bikes and had a loss equal to the selling price of 50 bikes what is his loss
percentage

"I 7 300 ST =1 ST I8 50 FTSH 6 AHT T & T gl gs. Saeht i qiaera fha«t g2
(a) 142%
(b) 20%
(c) 162%
(d) 25%

Q12.

A man buys 300 oranges for Rs 20. How many oranges a rupee can he sell that his profit
percentage is 36 i%?

UF giFd 20 9 #F 300 9o @ledr #1 98 Us I § fhad 9oy 99 Sdar
& oY & 3@a ot yiaerd 36 g7

(a) 12

(b) 11

(c)13

(d)9
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Q13. In triangle PQR, the sides PQ and PR are produced to A and B respectively. The bisectors of
£AQR and «BR(Q intersect at point O. If ZQOR = 50°, then what is the value (in degrees) of ZQPR?
s PQR #, [T PQ &fiX PR FHT: A 3fiX B @& & af St §. g 0 9¥ £AQR ¥ £BRQ wfa=ge+
fasors §. 7R ZQOR = 50°, A 2QPR &7 AT (3t #) 197 %2

(a) 50

(b) 60

(c) 80

(d) 100

Q14. In the given figure, ABCD is a rhombus and BCE is an isosceles triangle, with BC = CE, 2CBE =
84° and £ADC = 78°, then what is the value (in degrees) of ZDEC?

< Y A #, ABCD T 9HS g i< BCE UF @ {gaTg Brogst 8. Sr&# BC = CE, £CBE = 84° 3{X £ADC =
78° §, A1 LDEC %7 AT (Rt #) 7w 87

(a) 20
(b) 28
(c) 33
(d) 36

Q15. In the given figure, triangle ABC is drawn such that AB is tangent to a circle at A whose radius
is 10cm and BC passes through the centre of the circle. Point C lies on the circle. If BC = 36cm and
AB = 24cm, then what is the area (in cm?) of triangle ABC?

2 T srfa ®, Brsist ABC #7390 938 ST S1aT § % AB, A F g A it eqsivar g et Bsar 10 a+r g
AT BCTTA & Fx A o< [T &.
fig C g " fRua €. IfT BC = 36 3t 3T AB = 24 g g, fh< Bvsr ABC &7 &% (cm? ) #4787

e RRB JE PRIME 2019
N ELECTRONICS

Y, J — ALLIED ENGINEERING
\ - H“““_m: 85 + TOTAL TESTS
A B 15 Mocks for First Stage

7 Mocks for Second Stage

(a) 134.5 5 Previous Years Practice Sets for Electronics

(b) 148 20 Section wise Practice Sets for First Stage
20 Topic wise Tests for First Stage

(C) 166.15 20 Topic wise Tests for Electronics

(d) 180 eBooks (Study Notes)
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Q16. A boat is moving away from an observation tower. It makes an angle of depression of 60°
with an observer’s eye when at a distance of 50m from the tower. After 8 sec, the angle of
depression becomes 30°. By assuming that it is running in still water, the approximate speed of
the boat is

T AT TF ATATRT STa< o g I @l §. T 2 & 50 Hie fit T ) & qdaers it T ¥ 60 = #°r
SATHA & FHI FATAT 5. 8 S F TS 98 AGTHT HIT 30° T STTAT 7. I A g [ ag oofy oft areit & =t
TRl g AT AT il SIGATT T BN

(a) 33 Km/hr / foei/=

(b) 42 Km/hr / eft/=

(c) 45 Km/hr / fefit/=

(d) 50 Km/hr / &fi/=

Q17. Ratio of the number of sides of two regular polygons is 5:6 and the ratio of their each interior
angle is 24 : 25. The number of sides of these two polygons are

3 At agsgeit & oIrst T ST FT AITT 5:6 § AT S TAT SAATH BT HT TGATT 24 1 25 8. T &
TEASI i AT ol HEAT &

(a) 10,12

(b) 20, 24

(c) 15,18

(d) 35,42

Q18.1is the incentre of a triangle ABC. If ZACB = 55°. ZABC = 65° then the value of ZBIC is

1 T IS ABC 7 =1:3% g. If< LACB = 55°. ZABC = 65° § @' then the value of ZBIC FT W9 g:
(a) 130°
(b) 120°
(c) 140°
(d) 110°

Q19. AB and CD are two parallel chords of a circle lying on the opposite side of the center and the
distance between them is 17 cm. The length of AB and CD are 10 cm and 24 cm respectively. The
radius (in cm) of the circle is

AB 3T CD T I I a1 G SHATE g ST g it [AqQd eIT I 1 § < 37 1= 6 & 17 99 8. AB
ST CD st ¥=Ts HHL: 10 §4T 3% 24§+ §. I Y B=ar g (A H):

(a) 13

(b) 18

(9

(d) 15

Q20. A cricketer has a mean score of 60 runs in 10 innings. Find out how many runs are to be
scored in the eleventh innings to raise the mean score to 62?

T fhehe &7 10 TRAT # 3f9d T 60 §. gl Il #§ fohaw W forg s =9fEe forasr Saer siaa @ik 62
& ST

(a) 83

(b) 82

(c) 80

(d)81

5 I www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

Q21. If there is a reduction in the number of workers in a addaayt
factory in the ratio 15 : 11 and an increment in their wages in &) test series

the ratio 22 : 25, then the ratio by which the total wage of the
SSC CPO PRIME

workers should be decreased is

i TF FE™ ® FAATET T 99T & 15:11 F Fqa1q § FHT grdt § (TIER-I + TIER-11) 2019

I S Aq | 22:25 F AqATT A Fig Tt & AT FHAATRIT o T a7 40+ Total Tests
# fraer SREIN) H T Y ST =R T? v~ 20 Tier-1 Mocks

(@) 6:5 ‘/ig ?II sl:lifltnPaiers of 2017
(b)5:6 204 eBooks

(©)3:7

(d)3:5

Q22. If a man receives on one-fourth of his capital 3% interest, on two third 5% and on the
remaining 11%, the percentage he receives on the whole is:

IfX T AT ST Gt F TH FATE T 3%, T fIGE 9 5% 3R A9 I 11% T FIAT § AL Aead d
Y =T waera wTa grar 87

(a) 4.5%

(b) 5%

(c) 5.5%

(d) 5.2%

Q23. A sum of money placed at compound interest double itself in 4 years. In how many years will
it amount to four times itself?

TF G Ihg i SATST T 4 991 | S99 1T ST gf 91T 3. e ast # ag Tfer st & == T[T 3r
STat?

(a) 12 year/ a9

(b) 13 year / a9

(c) 8 year / T

(d) 16 year / a9

Q24. x does 1/4 of a job in 6 days y completes rest of the job in 12 days. Then x and y could
complete the job together in

X T FT9 T 1/4 6 A F Fxar g, y, 12 RRA7 & 519 1 G0 FAT . T x Ry TF v & i R & g
qahd 57

(a) 9 days / &=

(b) 8- days / f

() 9§days/ﬁ7{

(d) 75 days / f
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Q25. 2 men and 3 boys can do a piece of work in 10 days while 3 men and 2 boys can do the same
work in 8 days. In how many days can 2 men and 1 boy do the work?

2 9 3X 3 9% 10 A1 & us F17 X 9% g, Tl 3 T2V 3T 2 AFH G0 w9 & 8 il § #+¥ a9 §. 2
TR 3T 1 FEFT w1 F°t fovaer o § w7 a9 82

(a) 8 days / fa=

(b) 7 days / fa=

(c) 12% days / fa=

(d) 2 days / fe=

Q26. A tank can be filled by pipe A in 2 hours and pipe B in 6 hours. At 10 am pipe A was opened.
At what time will the tank be filled if pipe B is opened at 11 A.M.?

T &, TT39 A BT 2 52t § 3% 9759 B 1T 6 5l § S ST 9dT 7. g 10 T IZT A HT GIAT 4T 9T, &F
o T IR A ST IR 91T B 498 11 S @1 4.

(a) 12.45 AM.

(b) 5AM.

(c) 11.45 AM.

(d)12 P.M.

Q27. A can go round a circular path 8 time in 40 minutes. If the diameter of the circle is increased
to 10 times the original diameter, the time required by A to go round the new path once travelling
at the same speed as before is:

A TF JATHRIC WET FT 8 T FHT ATaT § Forad 40 e &1 g9 «vrar 8. 3 99 F =9 § 99 A9 § 10
AT g T ST QT T 7T AT AH A H A FIRT T =47 797 v I, St Ifa @t § St a8 of?
(a) 25 minute /f&=e

(b) 20 minute / fHH=

(c) 50 minute/ fHwe

(d) 100 minute/ ==

Q28. The cost of levelling a circular field at 50 paise per square e

meter is Rs. 7700. The cost (in Rs) of putting up a fence all round & & testseries

itatRs. 1.20 per meter is (Use t = 22/7) ALL SHIFTS PAPERS OF 2016 & 17
50 89 it o X i T T & FAER T F GHIAT F M qTeAt SSC CGL

AT 7700% §. ST 91X 30T 1.20 ¥ I a9 HieX it I F 309 F - TIER-I/PRELIMS
&t ARTT FHIT (FTFT H) (10 = 22/7 FT TN H) COMBO

(a) 132 Rs/ = 78 TOTAL TEST
(b) 264 Rs /= « 35 All Shifts Papers of 2016
(c)528 Rs/ = * 43 All Shifts Papers of 2017
(d) 1056 Rs /%
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Q29. P and Q are 27 km away. Two trains with speed of 24 km/hr and 18 km/hr respectively start
simultaneously from P and Q and travel in the same direction. They meet at a point R beyond Q.
Distance QR is

P siiT Q 27 Tt i g W §. Fwer: 24 i sic 18 sl A it ¥ AT PR Q & Tw A & gt &
A auE R A AATFETE. T QA M g R A=a §. QRFT T &:

(a) 126 km /T

(b) 81 km /et

(c) 48 km /Tt

(d) 36 km /THHT

Directions (30): The income of a state under different heads is given in the following pie-chart and
answer the questions.

et =1 # R 1o fer 7= 3 siasta T Tt it s T 90T 147 §, S <.

® Custom Duty = Market tax » Income tax = Excise Duty = Property Tax

Q30. If the incomes from the market tax in a year be Rs. 165 crores then the total income from
other sources is (in Rs. Cores):

7fX T T § ATHE FTH ATH g2 T 165 FUS T (T A1 A & & T T RN (FAS =09 H):
(a) 335 Rs/®
(b) 325 Rs/%
(c) 345 Rs/=®
(d) 365 Rs/=

Q31. A shopkeeper sold 12 cameras at a profit of 20% and 8 cameras at a profit of 10%. If he had
sold all the 20 cameras at a profit of 15%, then his profit would have been reduced by Rs. 36. What
is the cost price of each camera?

TH THEIR T 12 FHA HT 20% F ATH I 3 8 FHU A 10% F ATH I I, IfT 9+ it 20 F00
15% % ATH 9T S g1, AT ST AT 36 TII FHH IaT. AT FHL FT /77 YT haeT 872

(a) 100

(b) 150

(c) 180

(d) 220
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Q32. The marked price of an article is increased by 25% and
the selling price is increased by 16.66%, then the amount of RRB JE PRlME 20]9

profit doubles. If the original marked price be Rs. 400 which is cs & IT
greater than the corresponding cost price by 33.33%, what is
the increased selling price? ALLIED ENGINEERING
T a5 & 3ihd Teq A 25% H IfF Tt § 3 Fasr =7 7 16.66%
Eﬁ- 'i"?&' _Q;R“ %} Eﬁ- A Eﬁ- (”5' él (['“ _@- SHE“ % Qﬁ HT 3”;‘;“ = 15 Mocks for First Stage
400 99 § ST 39 F7 99 A 33.33% AT §, AV FOwd Go7 § ot g ACESEEELINENE
2 5 Previous Years Practice Sets for CS & IT
ﬂ'ﬁa" % 20 Section wise Practice Sets forFirst Stage
a 20 Topic wise Tests for First Stage
(a) 240
(b) 360 20 Topic wise Tests for CS & IT
(c) 420 eBooks (Study Notes)

(d) 600

Q33. The cost price of an article ‘A’ is Rs. 160 and selling price of another article ‘B’ is Rs. 240. If
the selling price of A will be equal to the cost price of B, then the profit after selling A is 20%. What
is the profit on ‘B’?

T a0 'A’ T F7 94 160 T § 3T @4 a7 'B' #1 AT To7 240%9F & afT A %1 fOeFq o4 B* &9
T % TUEL §, A A T a9 F 18 20% ATH TTH SIaT . 'B' T AT e 872

(a) 16.66%

(b) 50%

(c) 25%

(d) None of these/ TAH & FIs AT

Q34. Pepsi and Coke, there are two companies, selling the packs of cold-drinks. For the same
selling price Pepsi gives two successive discounts of 10% and 25%. While Coke sells it by giving
two successive discounts of 15% and 20%. What is the ratio of their marked price?

Yot o e, < FURAT §, ST Fies B F 46 a9t &, qu e Tow w Il 10% SR 25% i @
FHNT & AT 5. STafh @b 15% T 20% FY I FHARMT G & T TH J9dT 5. SAH SATha Tod FT AT
o 22

(a) 143 : 144

(b) 19:11

(c) 136: 135

(d) 73:77

Q35. A company instead of raising the mark-up by 20% discounted the cost price by 20% while
stiching the price tag on its product. Further the company offers a discount of 6.25% to its
customer. In this process company incurs a loss of Rs. 37.5 on a single article. What is the selling
price of that article?

T HAT Sifahd ToT HT 20% TTH & TS Y IS G T & FAATT T ARTT T Hl 20% FF FX AT &,
THF AATAT FUAT FTT ATSH HT 6.25% T FT T FLAT & T THAT & FO0 T UF 9% I 37.5 T4 ¥
g T §. a5 F Ay goa =T |2

(a) 417.5

(b) 112.5

(c) 365.5

(d) None of these/ T7H & FIs A&l
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Q36. A trader sold an article at a loss of 5% but when he increased the selling price by Rs. 65 he
gained 3.33% on the cost price. If he sells the same article at Rs. 936, what is the profit
percentage?

TH HATIRT 7 5% FY I 9 T T8 =01 AfF 51 a1 AT g7 § 65 T4 f i it a1 S8 a0 177 1
3.33% FT ATH TTH §AT. I ag THTT € HT 936 TAF F =T, AT ATH TIa«rd =T gHIT?

() 15%

(b) 16.66%

(c) 20%

(d) data insufficient/ STeT ST

Q37. A person sold an electronic watch at Rs. 96 in such a way that his percentage profit is same as
the cost price of the watch. If he sells it at twice the percentage profit of its previous percentage
profit then the new selling price will be:

T SAh T TAFCF TST T 96 TIY H TH T T I9TAT & 1 ST AW Wiaaa gt & 5 97 F 997 &,

Tf% 78 = e rst widverd F @ AT TRYera o= S=a § 9 14 s gea /= g
(a) Rs. 132
(b) Rs. 150
(c) Rs. 192
(d) Rs. 180

Q38. A retailer cheats both to his whole-seller and his customer by 10% by his faulty balance i.e.,
he actually weighs 10% more while purchasing from wholesaler and weighs 10% less while
selling to his customer. What is his net profit percentage, when he sells at CP?

T fawar T I foRaT s TTEF &l 1T IITYU G F 10% TF T €IET 4T §, 39 THIE, 98 areqd §
I AT § GUET THT 10% ST FT F1 LAl g S STq AT Hl dod GHT 10% FH FT I HaT &.
SIS 98 99 T YT U S9dT g qF SHHT L& ATH TFaera 7 rar g2

(a) 2%

(b) 22:%

(c) 20%

(d) 21%

Q39. A person wants to reduce the trade tax so he calculates his profit on the sale price instead of
on the cost price. In this way by selling a article for Rs. 280 he calculates his profit as 14;%. What
is his actual profit percentage?

T A {<h SATII H HT HH FHAT ATGAT 8, AT 98 T o F T (g oI I AT ATH it TUET HLAT 8. 9
Wag@a%@aﬁzsoﬁéwmé%wﬁwwi ST aTEqfas AT viaerd fahaeT 872

() 20%

(b) 16.66%

(c) 25%

(d) Data insufficient / TTeT T
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Q40. A trader marks his goods such that he can make 32% O
profit after giving 12% discount. However a customer availed & & testseries
20% discount instead of 12%. What is the new profit
percentage of trader?

T SATIT AIH T Hl SH THIL A ohd FLAT § % 98 12% FE A

.——

TR 32% FT ATH AT FC T &, JTATH T ATgdh « 12% & T SSCJE 2019
20% & FT ATH 17 AT, AT F°T 7947 797 Weveray = 22 ELECTRICAL
(a) 20%

(b) 44% 10 Full Length Mocks
(c) 30%

(d) 28.8%

Q41. A man purchased 150 pens at the rate of Rs. 12 per pen. He sold 50 pens at a gain of 10%. The
percentage gain at which he must sell the remaining pens so as to gain 15% on the whole outlay is

T STk 12% I 99 it & 9T 150 U9 AT §. T8 10% o ATH 9L 50 U7 99T §. 39 AT Y1 il fohawr
TS ATH I =941 ATRY o & S 9 9T 15% FT ATH TTH B

(a) 215%

(b) 20%

()17%

(d) 175%

Q42. A vendor purchased 40 dozen bananas for Rs. 250. Out of these 30 bananas were rotten and
could not be sold. At what rate per dozen should he sell the remaining bananas to make a profit a
of 20%?

T fashdr 250% ¥ 40 T5i9 &t @0EAT 3. 590 4 30 Fot 2 T I 3 F A TE 7 T, AW Fed| 1 foba w0
TR I AT ATRT qTih S8 20% FT ATH TTH 32

(a) Rs. 12

(b) Rs. 10

(c)Rs. 8

(d)Rs. 6

Q43. Pawan kaul earns 15 percent on an investment but loses 10 percent on another investment.
If the ratio of two investments is 3 : 5, then the combined loss percent is

T Fie T [Aaer a2 15 giaera stfota w2ar § 3 @ aer 93 10 wfdera g SR 8. 3fe a1 e v
QAT 3 : 5 7, AT GY<h I Tia<ra &

(a) 5/4

(b) 4/5

(c)8/5

(d)-5/8
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Q44. A merchant has 1000 kg sugar, part of which he sells at 8% profit and the rest at 18% profit.
He gains 14% on the whole. The quantity sold at 8% profit is:

TH TR & 919 1000fH.37 T §, Sa#H § 98 T 8% AT 9L 3iX AT 18% F ATH I I9dT §. a8 T 1<
14% ATH ITH FLAT §. 8% T AT TS HIAT FTq hi o

(a) 600 kg

(b) 640 kg

(c) 400 kg

(d) 560 kg

Q45. A trader sells two bullocks for Rs. 8,400 each, neither losing nor gaining in total. If he sold
one of the bullocks at a gain of 20%, the other is sold at a loss of

T AT Fo § famr Bt g sk fomr Bl @mw % 8,400% 8% 1= &1 9« 9=ar g, I 98 TF o1 &
20% ¥F ATH I 94T § AT SO O 9 T foha=T g 9 947 12

(a) 20%

(b) 18:%

(c) 142%
(d) 21%

Q46. A number when divided by 663 gives a remainder 36. If the same number is divided by 17,
the remainder will be :

663 T AT g1 UK T AT T AR 36 gl I 99 G&4T FY 17 ¥ vifrg Frar s, av Qe /=1
gNIT?
(a) 10
(b) 5
(c) 2
(d)3

Q47.

If2r =h +r® + h? thenthe ratior:h (r # 0) is

FE 2r=h+r? +h3, @l Heqld r:h(r#0) AT BET?
(@)1:2

(b)2:3

(c)4:3

(d)3:5

1
xi4xy+yd

¥ - 1
?ilﬁfi=v2&}-—v2?_.F!’rx—y—maﬂmﬁwﬁ?

If x = {28,y = V27 then the value of x + y —
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Q49.

If x=12 and y = 4, then the value of (x + y)i is: SSC EXAMS 2019
afg x=123R y=4, @ (x + y)» & AF FAd FL. SUPER PRIME
(a) 48
(;) 1792 Test Series | eBooks | Books
(c) 4096
(d) 570 850 + Total Tests

200 + eBooks
Q50. In a mixture of 25 litres, the ratio of milk to water is 4 : 1. 8 Printed Edition Books

Another 3 litres of water is added to the mixture. The ratio of

milk to water in the new mixture is

25 AT F T #, o0 7 9T F AT 4:1 8. Awor F 3 e gt i =TT Sirar 8. 9 f{wor § g s}
T T STTATT AT g7

(@)5:1

(b)5:2

(c)5:3

(d)5:4
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